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Guess Paper Annual 2025 PHYSICS 10t By: Muhammad Qadir Rafique

PHYSICS 10"

Multiple Choice Questions

The mathematical formula of Hook’s law is: e U QKIS | 1
X 1 2F
X F e K 7 xv
The formula for time period of simple pendulum is: r.JJrM,o/,:-(Wi()wuV 2
l .
T=2TI,'\/z D T:ZT[\/: Cc ']":277;\/ﬁ B '*ZﬂI/ A
m g k :
The formula for time period of mass spring is: @ ::Lﬂmbb’,«/z-(wi(’u(/ut 3
1 |k 1 m \/E k
=2 m "=2% ”._:If"_'-:;. r Z”J;
Frequency is equal to: A :‘LJM/.'/.J.”-"E/‘ 4
f=—kx D T =2m |- C| . f:"'-l"- Bl f==v |A
g QY T
If we double the length of simple pendulum, then its |\ L B}
time period becomes: Va 62t 5 Feb I S QWSS S| 5
r D or el r B VZT v A
2 i vz
Which one of the following is an example of S|mple . .
harmonic motion? te QS Fr Sy 4SS LS o 5o | 6
A bouncing ball on a The js'pir]n,ing' of fhe The motion of ceiling The motion of
floor D | . . earthon its axis c fan B | simple pendulum ast- | A
Fr$ el §23%1,0) ;I Jm,fé/tud/uﬂ Fréflney Frdti v
If the mass of the bob.of a pendulum is increased by a ATLabT 7 ST el U U s
factor of 3, the perlod of the pendulum s motion will: Wl | 7
Be decreased by-a. factor ' Be decreased by a . Be increased by a
) Remains the same
of 4 D factor of 2 C Ry B factor of 2 A
ANt §2 nf i LA K2 ool
The kinetic energy of mass spring is maximum at the . . B
position: te Qrnlicnliqe U GAENA Ly | 8
Both are correct Mean position Extreme position
None (s D Ut e U c (Fdsv | B Lyl A
Sl unit of amplitude is: e ySIE g | g
cm \D\ m v \C Hz \B\ Second \A
Sl unit of frequency is: e SIS A3 | 9
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Coulomb —4y” D Second 4& C Ampere ~£i B Hertz #, v/ A
The number of waves passing through a point in one )
second is: IS Sipdl S e B SIS | 9
Amplitude 5.2 &% D| Wavelength ,;Aéfg, C | Displacement »o=+"5 | B | Frequency o™} v/ | A
.............. provides restoring force to the moving simple . .,
pendulum: e S U ALl S Pl | 9
Inertia Force of weight Tension in string Resistance of air
L D Jalun v C £ EL s B g A
The velocity at high level in simple harmonic motion: (e G gJAdy b S eS| 9
Seldom minimum Zero Minimum Maximum
b P D v c a B| . eli A
The time period of a simple pendulum of length 1 m is: e bhafeblial Lo | 9
1.885 D] 1.89s c 211s . IB] 19s v  [A
If we increase the mass of a bob through 3 m. then its Lnlokdy Jﬁ{{:}d'{fé‘e#?ﬁ”tﬂf th’q‘)"%‘{/‘
time period will be: 9 Q. €1 10
Becomes less four times Become less two No change: -
¢2 bl D| tmes¢zixfts |C| ¢<4#30 v | B| Double¥ztosiss | A
Christian Huygens discovered pendulum in: T Wigl Ikl Ly S| 11
1956 D] 1756 c| . @165 v B 1856 A
Waves transfer: - - g S| 12
Velocity ¢vs D| Wavelength & | ¢ | Frequency 55 | B Energy /v | A
Which of the following method is used to transfer - - .
energy? SIS Sebndeind Lo ST 3Ag vl e didsomr | 13
Allofthese /7, v/ | D | Wave motion ¢7»$y» | ¢ | Radiation c*$i, | B| Conduction G A
Radio waves are: \ W S kS Yl | 14
. 7 Electromagnetic waves Electric waves
None of these U¥3y” | D - Both uss C s B 20 B s S A A
Basic types of waves.are: Q e V4 rli"’d:lx'!tf 4| 15
Four . 0D Three of C TWO 55 v/ B One i A
Which of the following waves are the lightest? s o e vtdione | 16
Xrays ' Television waves Sound waves Radio waves
/'JJE' D ;g,u/bug C I kAl B i A
Which of the following devices can be used to produce R L T T
both transverse and longitudinal waves? ‘-‘f—oil.wl.r'/dlﬂ"".ié 17
A helical spring(slinky)
Atuning fork .2 £+ | D & v C| Arippletank &t | B A string ($.s3 A
In vacuum, all electromagnetic waves have the same: N etk | 18
Wavelength ,}éfg; D Amplitude 5+ & c Frequency - 3 B Speed 4y v/ A
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In which state of matter, longitudinal waves travel . . ,
faster? Ut d/&’]a./lbug]]g;gﬁ,::@uﬂ c«’lou’u:(p(g)l. 19
A and B both
Udsre sl ) D Gas o7 c Solid +# B Liquid & A
The example of longitudinal waves is: :‘L(fufd@ftfiinfféf:’ 20
Light waves j#s & » Sound waves %3l
Water waves Jys (. &g D | Radiowavesssi, | C v B i A
The product of wave frequency and wave length is )
called: :gw’ _,/’J“w;fﬁng’-,f/ﬂg, 27
Time period 4t
Frequency £ 3 D| Wavespeed ix$ys |C| Amplitudes£s |B| 0 w0 A
Types of mechanical waves are: | i .=u;frt3'J:z,dé'<( 22
Five 65 D Four .t C Three of .;f Bl  Twos A
The frequency of wave moving on slinky is 4 Hz and %3 "Q"“mo 4"ﬁ i’/”HZ4kf' f/&f}dnd/ ./]4&’"’
wave length is 0.4 m. The speed of wave will be: L "JMU/ 23
1.6m D] 16m c 1.6ms-1 / ' B\ 16ms-1 A
Which of the following device is used to produce both "“u"”’z’ ”J i e e s e
transverse and longitudinal waves? et Uil LS| 24
Tuning fork Helical spring SRR
9B D Lo kv |c| Rippletank &L | B String $s5 A
Which of the following characteristic of a waveis- - - . ) )
independent of the others? | 80 S pmerP § e S U S i pue | 25
Wavelength gﬂfg; D Amplitude-j)é’&';-ft_ vilc Frequency J'iff/' B Speed i A
A large ripple tank with a vibrator working ata - s b V(s . s ool
frequency of 30Hz produces 25 complete waves in a LG50 454 ‘:(//f 3050 L fe sl Ustrt]
distance of 50cm. the velocity of the wave is s GwdpU ’-‘Lt'/'&iz‘!«f( 250 Ml | 26
1500cms™! D | . T5cms! c 60cms! v/ 35cms! A
Ripple tank is a device that is used to study the H?L’UM“&LL/’J b Lclor” S it
characteristics of .........: e | 27
.|| Mechanical waves Water waves
Electric waves 5| D Jg;J?:( ¢ | Soundwaves sdsT | B ipdd v A
The bending or spreading of waves around the sharp
edges is called: gt S e L LA L UKL | 28
Interference 2 D | Diffraction o*% HSv | C Refraction ¢*< %5 B | Reflection ‘/@ A
Which of the following quantity does not change .. .
during the refraction? tdn S m L P e s o et oer | 29
Frequency o™£; v/ |D| Wave length p}ﬂfg, C Direction %45 B Speed ix A
The ......... of waves is independent of the other . . .
characteristics. :dn & g ehor® § s, s | 30

Wave length 5%y, | p| Amplitude :2d% | ¢

Frequency ™% v/ | B Speed L A
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When water waves enter in a shallower region, then its " e ) .
wave length becomes: i Qs S dnlot 2 dndonddies | 31
Remains same < 3%, | D Zero 3 C Increase ». J B Decrease f v A
Which is an example of longitudinal wave? -q-db"‘Jiz"J sy | 32
Water wave jzs§d | D | Radiowavejzzis | C | Lightwave jgsd, 5. | B Sound we:;e Skl
How does sound travel from its source to your ear? te G L ETe Ll niggii | 33
. S By changes in air
By infrared waves D By elecvtvrg\r/r;agnenc c By Vlbg?tls(iﬁsg'g wIres B pressure v A
- Gt 5 P R W L
J’#J e y,},@y&f?,}?l L&/{!)Ju'/}ﬁ&/t' ;"J&:M‘f L ‘C ”
Sound is a type of ......... energy: P *’4..(:’ JISGEAL | 34
Chemical &<~ D Thermal J # c| Mechanical £ v/ | B | Electrical £ | A
The series of compressions and rarefactions of a wave \ QY = . .
is called: L e Jguubm’ef? Cin L | 35
Wave length a}éﬁg, v/ | D | Focallength a}éff} c| Time _period'ygﬁ/?;(/ ¢ |B| Frequency u”l;f/' A
Sound is a type of energy: L D O ?‘af“’du/‘f&/‘l,ﬁv 36
Chemical £< D Thermal J # ¢ | ~Mechanical 55 v/ | B| FElectrical £2¢1 | A
The frequency of tuning fork depends upon: A :‘mel.i'%"'-qf)gf.f/}..@:‘ 37
Amplitude 3£ &5 v/ | D Force s - 1C “Mass Ut B Length du/ A
The loudness of sound mostly depends upon: - “-". Ceba g A sl KA | 38
Amplitude &4 v | D | Wavelength 25 | ¢ Period 4 B | Frequency o™/ | A
The characteristic of sound due to which. we can Ot i o e (ia > B O
distinguish between two sounds of same loudness S (s J‘f:‘“‘f’p nd il
and pitch: e e QS| 39
Pitch & D " ‘Loudness #%1 | C Quality $1¥’ v/ |B| Intensity &1 | A
Intensity level of siren of train is: =~ e JAET WALyl | 40
120dB v/ . |D|" " 100dB c 130 dB B 150 dB A
Sl unit of intensity of sound is: i o fSIKE AL | 4
Wm2 . [D] Wms* c Wm2 v B Wit A
The intensity level of whisper is: e JAG WAL s | 42
70 dB D | 40 dB c 30dB v/ B 10 dB A
The sound level of rustling of leaves is: e bl o o SU% | 43
40 dB D | 30 dB c 20 dB |B| 10Bv |A
1 bel is equal to: one bel 1. | 44
10dB v/ D | 90 dB 9 c 20 dB B 40 dB A
The sense of sound remains in our brain is: bl lagLoKis | 45
0.2s D | 0.02s c 0.1s v/ B 0.01s A
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When the frequency of sound wave is increased, ) .
which of the following will decrease? oJ nﬂ’ﬂd U eSS piir I o b S S | 46
Wavelquth and Wavelength and Amplitude Wavelength
amplitude D period c . B s A
5£J§£1/513‘Qg5 %4‘/3'%:}{’5 v S -
If the speed of sound is 340ms-! and wavelength is 0.5 . )
m then the frequency will be: g nu"-)g/tfi'il/inm0-5i'é&‘w' ms"340.Ly S 25001 | 47
680Hz v/ D | 170Hz c 0.5Hz B 340Hz A
The speed of sound in distilled water at 250 will be: e i 8 2 e STt a4 250 | 48
1508 D | 1498 I 7488 |B| 7478 A
The speed of sound in air is: o L)’JA}VU’:'M 49
1267kmh" ID| 1266kmht v | C 1265kmh B 1264k A
The speed of sound in wood at 25°C will be: ¢ OnuttE S b S mTASH 250C | 50
3980ms-" D] 2000ms'v |G 1290ms-! 972ms-! A
The speed of sound in air at 0°C will be: L e ke §uAlg 00C e | B
331ms! v/ D | 231ms-! c 386ms! . | B 376ms-! A
The speed of sound is greater in: A i Qral iy d 250 | 52
None of the above A\ TV
V' D Gas U C | Liquid & B| Soidu#v |A
The speed of sound at room temperature is: U :93‘%&{ ¢?V4Z~/;7 4] 53
350ms-1 D] 34oms' v . ]C  330ms-! B 320ms" A
For a normal person, audible frequency range. for ' . 3
sound wave is: Q. -‘L»»J (f’-’f/tﬁ“ibwh}.l?.iédﬁrbug 54
30Hz-30kHz3  |D|  25Hz- - 25kHz '-.\ C| 20Hz-20kHz v/ 10Hz-10kHz | A
Who presented the theory of light? . 'lr’/u""‘u/"; Kird Lf 2| 55
Bill J; D Maxwell J;u—*/” / C Faraday 5 2 B Newton ./«
Types of reflection are: = : , u’rl»»”d/u’a’/ 56
Five ég D| . Fours c Three o B Two »» v/ A
Types of spherical mirrors are: wr%ﬁ"fbﬂﬁk 57
Eight #7- “p Six C Four J B Two » v A
Image formed by' convex mirror is: & 'dbiélﬂf{r’( 58
Inverted and virtual Erect and virtual Inverted and real .t/ Erect and real
Sz D Sonmeor v/ | C K B Kooy A
A converging mirror with a radius of 20cm creates a 2 . s z .
real image 30cm from the mirror. What is the object Fofighes Lemd0, o cM20R L8, Lo
distance? ¥ nl Leb 7 e vt | 59
-20cm D | A5em v | C -7.5cm B 5.0cm A
An object is 14cm in front of a convex mirror. The . s ) 2
image is 5.8cm behind the mirror what is the focal FL Tl chm14x_.L/£;/ ‘/f/()...g
length of the mirror? ?q_,bfiﬂfgf%; /-<-34m5.8 | 60
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-20cm D -99cm v/ C -8.2cm B -4.1cm A
Which of the following quantity does not change ..
during refraction of light? W Ju s S ol e Lz m L P | 6
lts wavelength Its frequency
Sl v D 5SS C lts speed 4xdu1 | B | Its direction =St | A
The index of refraction depends upon ‘-‘q.t'nwf MNP TS | 62
The object distance The image distance &' The speed of light The focal length 7
/?JJGL()' D {,.1455 C {.ﬁ:{»’qu v B {,Eﬂ.f A
Refractive index of air is: :gbn‘/fh;{/imn 63
4 D] 3 c Bl v [A
Refractive index of diamond is: _ ':'é;rk&fki;{/’.;&. 2| 64
242 v D | 2.21 c 152 | B | 1.33 A
The refractive index of ice is: ¥ 9 -:;Lt'ngfgfl)t{/:’./{d/. 65
1.33 D] 2.42 c 131v . |Bl 152 A
The refractive index of water is: G by “f’;{ﬂ/ﬁ}g 66
133 D | 139 c 136 . |B] 2.33 A
The speed of light in glass is: L e dEutEE | 67
3 x 104ms* D]  3x10mst  [c[ 2x10mst  [B| 2x108ms' v | A
The speed of light in water is: QY :‘a»:»,'&?uuf&g 68
35x108ms-1 | D|  3x108ms1 . {C| 20x108ms1 |B| 23x108ms-1 v/ | A
The refractive index of crown glass is: \ e b RN A | 69
152 v D | 16.. . |C 2.21 B 2.42 A
The refractive index of ethyl alcohol is:’ W :‘mef{f’f*g/’l/(d’ Aifwa | 70
136 v/ D | 13100 [ 2.21 B 2.42 A
If a ray of light in glass is incident on air surface at an Sar M L poel SinesSG e g/
angle greater than the critical angle, the ray will: nedmre Safis | 11
Diffrfafst only e _P%Z'gilg”;e:;?g;s”d o | Reflectonly s | g Refra'ct only A
A N B S v S
The critical angle of water is: e bn BIESR | 72
950 - |D] 900 c 488 v B 4880 | A
The conditions of total internal reflection are: 82U A | T
Five &\ D Four .t C Three o B Two 5 v/ A
Critical angle of glass is: e bn S BSVEE | 14
0 D | 900 c 450 B 20/ |A
Optical fibers work on the principle of: St rQJ:"‘/ A6SAT| 75
Both Band C Total internal reflection Continues refraction
Uil s p| Sy kv | e A B | Refraction o< | A
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Endoscope which is used for the diagnose of throat is .
called: eI e S fakind LiwLE | 16
None of the above 5" Bronchoscope Gastro scope
o D EE C| Cystoscope —<+— |B s i A
The power of lens is equal to: s 7| 17
il 3 2 1/
f D f C B f A
Which type of image is formed by convex lens on a .
screen? ‘-“Lbbzc‘é"'tfr)‘//«;d/‘ﬂu{?/ 78
Upright and virtual (" - Upright and real Inverted and virtual ' Inverted and real &
in.,/u:' v D quﬁ'f,g’ C J/gzﬁzﬁ' B £ _- ' :Id_f/-jm . A
Focal length of concave lens is: aéni‘f fiJﬁJr.a/ 79
Less ¢ D Greater »(J C Negative -5 v/ .|.B| . Positive P A
Image formed by a camera is Ejﬁ—@ﬂu‘aé’;’é izt | 80
Real, inverted and Virtual, upright, and Virtual, upright and . "|*-"{ Real, inverted, and
magnified diminished diminished. . .- diminished v/
S S D| SrewsSartis |C| dFemnlsidzs |B| dfenxndF | A
Which type of image is formed by the converging lens SN . o
of human eye if it views distant objects? o fe bl WSS L LK 5301 | 8
v TR Real, erect, same
Virtual, inverted, Virtual, erect, . |- Real, inverted, Slze
magnified diminished < - | - diminished —wl/.u(ﬁffﬁffdfz
Srendlf 7 D| dFenS s Sos (€| Henldi v | B s A
The human eye consists of: Sl e :‘Lrtgggu:fl’&u'l 82
Concave mirror -+~ | p | Convex mirror.. o5+ | ¢ | Convex lens =5 v/| B | Concave lens =+ | A
The change in focal length of human eye:is called: e Qb e s B SISHLET| 83
Near sightedness [ -"-" Accommodation Modification 3+
SF Dl I R4 c | Distinct vision w525 | B e A
A positive electric charge: o i pntile, ;?-;,;;,g 84
RN 1 Attractbsga neutral Repels other positive Attracts other
Repels a neutral charge - charge u‘/ Lo charge positive charge
<t/ CSkdi | D ct) C| <t/ Cvensiyv |B| «t/U eksiy | A
Types of charges are: :ugru"lJ 2/e | 85
Five ég D Four ., C Three o B TWO 5 A
An object gains excess a negative charge after being Sl et "é”y‘""qw"z'%*f“/ wd (7 ]
rubbed against another object which is: -+()' lras | 86
Positively charged Negatively charged
All of these (17 D Joslo 4u %23y C j?/tg/?/}b;"g v B Neutral J./« A
Electroscope is used to detect: :+t'le£6fi¢—g’c5}?' 87
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Resistance =1 D Voltage &'» c Charge ¢t v/ B Currente:) | A
Which instrument is used to find the nature of the
charge? e bW 1L L3 STwy E e | 88
Spectroscope Electroscope —+ 42! Stroboscope
Microscope —#£. | D _E c v B ey A
A thin foil made of ......... is connected to the ground J L J*’J{’/‘a’d SIANL Lt ,c;a,
in order to protect the gold foils of electroscope from = B e J IR0 s O e
external electrical disturbance: :+Vlg’iﬁcnyfif Sy uliug 89
AIuminum S
Silver S+ D Brass J % C Copper J<-t B : v A
According to Coulomb’s law, what happens to the JLpLsle? S lbonl 7 b j. dliv‘ L5 E IS
attraction of two oppositely charged objects as their ol S Sy S J
distance of separation increases? "fad’l&u‘ A u"f sl ol | 90
Cannot be determined Remains unchanged - ,
Fodt oo D Jrdedy C | Decreases < db ("~ / B| ]n.creases <dbsr | A
The Coulomb’s law is valid for the charges which are TN ‘-""a"du‘f.idiz/kd'/ WA | 91
_ , _ , , @V Moving and point
Statlonaryhand large size Statlonz;ry and point Moving ?nd nonfp_qmt charges
charges D charges C|  charges, Bl soyrwzses |A
2 LAl S TS v Folpe st S .
- = & 1 7
A positive and a negative charge are initially 4cm ..
apart. When they are moved closer together so that - - ' . 1. N
they are now only 1cm apart, the force between them .- |. . ¥ “’?"Ll‘(u/""l’bécm“")‘%u"f@’k iy
is o T W JAS U s n Ll iineml ol | 92
A 4 times larger than 4 times smaller than
16 times larger than 8 times iafggr_ thjajn before f stos\ o det before ﬂﬂlﬂc%’i’
before sosl itAB &% | D | before xal B & | C v B g A
Two small charged spheres are.separated by 2mm. . . rhe. b
Which of the following would produce the greatest =Uiis ’M““frmf&bfmmz‘n’fv o ‘J'..’{”
attractive force? NEBINL u"’:;y:._/g.é_,m‘f 93
+29and -2q v/ \D\ T 2qand +2q c -1q and -4q 'B| +igand+4q | A
Sl unit of electrlcal charge is: :‘a&zSIK@/gJ 20| 94
Coulomb Jf / D Ohm ¢ C Volt 245 B Ampere 4 A
The value of k in Coulomb’s law is: el Skt Lo | 95
9x10°Nm2C2  |D| 9x10Nm2C2 v |[C| 9x108NmC2 |B| 9x10eNmC2 | A
Two charged spheres are placed at a distance of 2mm, . . -
which of the following pair has the more attractive S et gnr e g LB Lmm S S
force? eSnu i w”uua.wié.,w 96
+2qand -2q v/ \ D \ +2q and +2q ‘ C -1q and -4q ‘ B ‘ +1q and +4q ‘ A
The unit of Coulomb’s constant in Sl is: PR Y - g g ~S* ;«l(" 97.
Nm-2C2 D | Nm2C-2 c Nm2C2 B] NmC2v |A
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In system international, the value of k in the presence Skt dLmngsioienl g u!»uﬂﬁ_}f’ 'fri
of space or air between two charges: el | 98
9x108Nm?C2 | D| 9x1018NmC2 [C| 9x109Nm2c2  [B| 9x10°Nm2C2 v
One micro coulomb is equal to: e b1 B | 99
106C D | 106C v |C 103C B 10-3C A
Electric field lines are always: L2 US| 100
Pass each otherin a Pass each otherin a Cannot pass each Can pass each
region of less field region of more field other other
;/u._gquWLbi&;f/ LI ted 1 il /u.?;/x‘fg/uug f[u:f’fg/u.g
s D| wud i, |¢ SV B| < Ul . A
The intensity of electric field at any point in space is
called: :u,wff /‘”JA"J/‘G'-{(VJ( L | 101
Electric potential /~ Electric field intensity Electrostatic induction | |- Electric field lines
Sy D| ¢TIy |c| e iR .3'3 FugsE | A
The unit of electric intensity is: e K5I | 102
Nm D NC! v/ C “Ns' . |B Watt =1 A
The unit of electric field intensity is: AN e ySIKE I | 103
N2C-" D | NC' v/ lc|- NG B | NC A
Five joules of work is needed to shift 10 C of charge A \
from one place to another. The potential d|fference - "C"'J-’zégééflﬁé'fd/ nek "’gﬁ'f"*’ £C10-4
between the places is: - Kn A B Julen L el udngi-e byt | 104
10V D | v . e 2V 05V v | A
In S, the unit of electric potential is: Coe :‘L&%J’: /‘”r‘"/ (f;iz-f/‘?' 105
Newton ¢/« D Joulegz - | ¢ Volt 2455 v/ B Watt 2 1s A
One volt is equal to: i ArIndi| 106
1C- bl 1t v ¢ 1 B 1JC A
Capacitance is definedas - -_: -‘adwz//’uwﬁ&u‘fﬁf 107
viQ _|ol" Qv c Qv v B Ve A
Capacitor is used to store e UL L8025 2| 108
Al of the above: (v, : D Resistance «.#1» c Charge ¢ v/ B Current &>/ A
Charge storing device is: +J"U"'L/»"f &l | 109
Fuse J# D | Dielectric /243 | ¢ Capacitor /:{ v |B Resistor . A
The SI unit of capacitance is: PR et o | 110
Farad 42 v/ D Coulomb 4" C Ampere B Volt 215 A
The methods of combination of capacitors are: &, LIRS J‘ﬁ{ 111
Five &\ D Four .t C Three o B Two 5 v/ A
In parallel combination, each capacitor has the same »
value of: Lunes g bt Me | 112
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Charge and capacitance
u‘f u/f;/;l@/g D | Capacitance e u’{ c Charge ¢t B Voltage Zf“ wv A
If 2 volts is stored in a capacitor when 4 C charge is S ”Lu—%&ﬂ‘;‘e’@’? "’1{4’(“"&’ J/f'{ s
given to the plates then its capacitance will be: SnEH a2 | 113
8F D | 6F c AF B 2F v A
In circuits, ......... allows AC current to pass but stops
DC current: e 00 2 DCF et/ ACe ey | 114
Specific resistance
Thermometer =+ # | D Nad " c| Resistance /5. | B| Capacitor = v/ | A
One nano Farad is equal to: e Ank2E | 115
1x 10-8F D | 1x 10-2F c 1x10F v |[B]| IX106F | A
Capacitor is used to differentiate between high oy U144 &LL/‘J/ uv”{"’»’(/ Lotk
frequency and low frequency. This circuit is called: . et e | 116
None of the above =/ Parallel circuit Jf/:? \ @ Serles circuit 2.~
S e D | Filter circuit = 2 v/ | ¢ B o A
Micro Farad means: ":;} e dpe il | 17
10-12F D | 109F c| 1056_F:-;/ B 109F | A
In Mica capacitor, ......... dielectric is used: < ' ', e b S A0 U () 3 | 118
Mica &L v/ D Paper %¢ (s AIumlnlum ("/}! B Plastic qu A
Each bolt of lightening contains about: U Y :+3M/.'46/ SEST| 119
1000 million joule - }-" "1"-" 3000 million joule 2000 million joule
4000 million joule energy energy.. 9 energy energy
EaJzg 4000 D| GJze#1000w |o|  GadaeH3000 | B| Gadzot2000 | A
An electric current in conductors is due to’ the flow of: -+e!t5/3k<£¢f'/ SHELP | 120
Free electrons s 241,17 _ PQ3|t|ve charge
v D| . /,.Agmg C | Negative ions ~ !ﬂé Positive ions lru’ A
In an electric circuit, electrons move from higher =73/ J‘}y”[“}y’,”“/”a Wt S
potential to lower potential it | 121
Gains potential | - Release energy Loss their identity Gains power
L/ p| Zueséa v e Zypfesey  |B| Ly/fes | A
The SI unit of current is: e ySIKs /| 122
Watt = 1s D Coulomb 4" C Ampere ~4 B Volt 215 A
Flow of charges is called: NE-EE Lz | 123
Ohm 4 D Current =/ v/ C Coulomb s B Volt 245 A
One micro ampere is equal to: :‘Lrn/.l/.,“%/«u/? LWL | 124
10-12A D | 109A c 10A v/ B 103A A
One milli ampere is equal to: :‘at-n/.i/.i;’:iéug 125
109A D | 10A c 10-5A B] 10%Av A
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If 0.5C charge passes through a wire in 10s. Then what )
will be the amount of current? S br s BT b U108 CO5 U b L)1 | 126
5mA D | 50mA v/ c 5A B | 20A A
What is the voltage across a 6 Ohm resistor when SHE piet) IR il (bl&:.g
3A of current passes through it? -‘LMG'J » | 127
36V D | 18V v c oV B | 2V A
When we double the voltage in a simple electric Qertiod s 0 Jutzms S S B it oA
circuit, we double the fe | 128
Both (a) and (b)
AsBU s D Resistance o~ ", c Power s\ B Curfent= /v | A
Electric potential and e. m. f are: emfia Ly 29 | 129
Both (b) and (c) Have different units ¢ Are the different terms .| .- 'A-r_e_ _t_hjé same terms
BsiCuss D il e L C gy B[yt LV | A
The resistance of an ideal voltmeter is: Ll aedao i e el | 130
Zero du? A v/ | D|  Veryhighwtier | € Veryless fes | B Less ¢ A
Sl unit of emf is: S T ey SR | 131
I v D | C lc|] .. No  [B] NC- A
S unit of resistance is: QY ey ST~ 0 | 132
Ohm (s v/ D Coulomb 4" | ¢ | Ampere ~* B Volt s A
If 3 Ampere current passes through a resistor of 6. - \ ]
Ohm. Then the voltage at its ends will be: A . e tnBnIME e S O SN g 0L 601|133
36V D | Vv e oV B 2V A
If we increase both current and voltage'ihia.c_:irc:uit SUIB i SenZ a2 ™ J/~ Ll
keeping the resistance constant then power will be: :»yq:/ 5 | 134
Becomes four times ~ Becomes-double Becomes half Remains unchanged
S bortrie Dl Sabas C IR B| ¢s3ids s v | A
The specific resistance of copper is:-* e G xS | 135
12 ~..|D] 15 c 169 v/ B 1.99 I
The specific resistance of nichrome is: e dnu™ Lk e Fe | 136
600x108Wm_ " |D| 300x104Wm |C| 200x10¢Wm |B| 100x108Wm+ |A
The resistance of 10¥Wm copper is: e I g0Wm | 137
169 v D 2.75 c 162 B | 5.25 A
Flow of electric current in conductors is mainly due to: :‘Lt‘ﬂc—e!u(ufiw-‘f'/—f}g'cﬂ/ﬂ 138
Free electrons 7 291,157 Positive charges Positive ions
v D Tl sy C | Negativeions # 75 | B F Ty A
What happens to the intensity or the brightness of the 4 s e “ L so Y b
lamps connected in series as more and more lamps & et S sunnd Sukt ’1‘”2‘:%) <
are added? e ty0 s | 139

Remains the same C

Cannot be predicted D

>

Decreases ‘Ldn‘f v’ | B | Increases <t Lol
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When resistance is connected in series, the current ) .
flowing through it is: 1 S e ST bRt 2 S U e | 141
None of the above Different <t
uf é/ PRy U] D Equal «tx s/ C Zero <t p* B v A
If we double both current and the voltage in a circuit SUInG o S 120 ™ *"’/{'-'giﬁ/'
while keeping its resistance constant, the power :u.!.it[)/ L5 | 142
Quadruples Remains unchanged
Jngnﬂ'ﬁlg D | Doubles JLW%; v | C| Halves JLwﬂ B ?;}U”J/'J/u“ A
What is the power rating of a lamp connected to 12V Vet fdndt? i JJJZ“’Y"J”L
source when it carries 2.5A? < 25Asuy eS| 143
60W D] swv ¢ 145W  |B| ___-4.8W
Sl unit of electric power is: L el S| a4
Ampere /- D Volt =4 C Joule Jz . |BJ Wattenv | A
The electric power of washing machine is: 'd"'da’thfd'Ju"‘ d”d—f’)c/ 145
50 D] 100 c T80 800 A
1KWh is equal to: . O Y 1KWh «_txisl | 146
4.6M D] 36MJ v | ¢C - 2.6M B 1.6MJ A
One kilowatt hour is equal to: g :‘U.u.,,:’.u,f,g 147
3.6 x 1012 D] 36x1000 . |6| 36x108J v [B| 16x10%J |A
One watt is equal to: L W i br sl Ll | 148
s D] Jo e Js1 v B Js A
It does not allow DC current to pass but: aIIows AC )
current to pass: bl SIS a’dg ol S IS5 | 149
Spéf)_lfIC: re81stance
Thermometer =% | D" U ik c| Resistance /5. | B| Capacitor = v/ | A
The potential of neutral wireiis: .. e dn g S A2 | 150
Tenvolt 2> <+ [ D |~ Zerovolt s v/ | G| Five volts 2 63 B| onevoltelsti | A
Which statement is true about the magnetic poles? S sl G L){,’J‘f? 151
A single magnetic pole -
_does not exist . Magnetic poles do not
VP IALINE J:? g affect each other Like poles attract Unlike poles repel
5V D| Luinity &L |¢| i/ e |B| wi/Colye | A
Study of magnetic effects of current is called: .+tM JWK&’/’M’? wLlesS | 152
Electric capacity ) Electromagnetlsm
G D| Magnetism (,-f(f c “ ,/Q R4 B | Electricity &4 | A
A temporary magnet which is due to the flow of ; .
current in a coil: e e b LSt Lize kA | 153
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Electromagnet <3¢ 2 Electric intensity /¢ Magnetic field .,C;?
v D Magnet =& c G B i A
MRI helps in the diagnoses of the disease: MRI ‘-“L&)udi'gf?) sl | 154
Kidney »./ D Ear ¥ c Eye £ B Brain s v/ A
What is the direction of the magnetic field lines inside ) )
a bar magnet? v+&¢ngany,£:é',;nL¢;9,g,g 155
From south pole to From north pole to
There are no magnetic From side to side north pole south pole
field lines SRS e i Uy F ke Jy Fil i war_wm
St A8 | p 4 c 4 B| . &V A
The presence of a magnetic field can be detected by a ‘-“Loi.btgd/ 6Fszr S5 J:’? 156
Magnetic compass &£ Stationary negative Stationary positive |- | . Small mass
eJre v D | charge ;@/lg{"gd/v C | charge ;LJWJJJ(/ Bl <ullA A
If the current in a wire which is placed perpendicular to "W’(’WJ"/‘L"4""{/"‘5”‘5{”’/0“&"ﬁv&fl
magnetic field increases, the force on the wire ' JJJ“K' dl S J’; (9l | 157
Remains the same
Will be zero u@/@l D Jnu:f'w c _ Decréas_és'gfn,f B | Increases f&}. v | A
Michael Faraday belonged to: ) MR\ W K32 | 158
Russia s/ D | SaudiArabia—#$» | C| - America £ i B| England i& v | A
A D.C motor converts _ QS 2r 85 | 159
, , Electrical energyinto “{.-. | - . Mechanical energy
Eleztrlcgl elnergy Into mechanical energy . | - M;cha.mclal energy ”Tt° into electrical enjg);
chemical energy D C | chemical energy B . K . | A
, W Ny 1 J./!J{i/?!f&/! -
AL S G s ﬂ‘/&/ Jé/a WAV AN -
Which part of D.C motor reverses the direction of Sl SIS AL Sl o o 565
current through the coil every half-cycle? ?+Q:/ S erd | 160
A ¥ o The commutator 2
The splitrings £, <k~*.| p | Thebrushes #. | ¢ v B | Thearmature 27 | A
In DC motor, coil.can rotate in magnetic field through ) )
anangleof: . . :+&Cr/ J,,!Jui‘iy.,é‘f? SIS 585 | 161
60° D | 30° c 45° B | 90° v/ | A
The device which converts electric energy into . 3
mechanical energy is called: et/ x ui’&/”dé‘i( SEAS 20T | 162
All of the above (17 D | Transformer ;.71 | C Generator =7 B | DC motor 7+ 'S v | A
Which device was based on the principle of P
electromagnetism? XAPAS 4 4dr"£r7‘f“9 21| 163
Electric motor
Mobile phones w?fL» | D CD's ¢ c r S TV §sd
Electromagnetic Induction and electrolysis represent: L?//U’Jf 6 Uu'a'u'uj MJ"? ’/d' 164
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Michael faraday George coulomb
AV D Newton ¢~ c ek B| Ohmais e | A
The direction of induced e. m. f. in a circuit is in . . )
accordance with conservation of el Lo S e SifISilo42 | 165
Energy Momentum Charge Mass
KAV | D | wE Ay (o] ulisE A e | B wliEEu A Sul | A
The device which converts mechanical energy into ay
electrical energy is called: e b/ EEAK BN 2 ST | 166
AC generator
Electroscope E;F, 21D SV C DC motor /+ $' S5 Transformer LA A
In hydroelectric power house, ......... works on the e LJ,;_,@?,,C‘ '““'"u*d’ ”LJ/G bty
principle of Electromagnetic Induction: . Y "r-t'/ 167
|| Galvanic cel i
Generator %7 v/ D| Voltaiccell & & | ¢ Motor f»» - B ' J A
The example of mutual induction is: - :‘adef(ﬁngz’ 168
AC generator
Relay & . D | Transformer /.61 v/ | C DC motor 15 5 B FAE A
The step-up transformer: T : ://VV’?«L%«.“ 169
Has less turns in the Has more turns in the >
secondar/y coil prlmar}/ 00|I/ | Increases the input Increases the input
Zakf ot SsiEds Lot S 8 . voltage v current
Ut D Gin, Q] i/ Bhsu |B| wtbrle o | A
The device which is used to increase or- decrease ' g
alternating voltage is called: | e bl Lo ST w B T2 T | 170
AC: generator el Electric motor
Solenoid t4s D| / e C | Transformer ~.6-1 v/ | B S SO A
Transformer uses: e e b/ 26017 | 4T
Voltage &°ss v/ . | D | Power st C Energy J./ B Charge ¢t A
Transformer is used for:. . —e b e 6002 | 172
None of the above. d/ . Decreasing voltage Increasing voltage
J.?" \ D Both Usss v/ C 4&4_/?/:(274» B ”iié_lw/".ffflu A
Step down transformer: A2 | T3
Has more turns in its Has more turns in its Decreases input Decreases input
primary coil 155 1,4 secondary coil $.4£ voltage ¢/ ¥ &g current ¢/ e g
e Vs D| uiskuistfy |¢ v B et) A
Transformer works on the principle of: ‘-]er rﬂ;dr"u’/ ,46907 | 174
Electr?static induction Mutual |r1duct|on S Electromagnetic Self;induction
iy D S v c induction B i A
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i L
The process by which electrons are emitted by a hot .
metal surface is known as: -:;-Muna)t;)':}?':-ffr/ SSES K3 | 175
Thermionic emission
T P D| Conduction *% |c | Evaporation sy | B Boiling &1 A
The particles emitted from a hot cathode surface are: Py unt bt S35 rf 25 At | 176
Electrons /41 v/ | D Protons x4 C | Negative ions #1.25 | B | Positive ions Fleid | A
The potential of tungsten filament to produce beam of K"/w‘fc&éz'/“‘(d/”’a ’L”L‘j/""(r
electrons in thermionic emission is: & r-b'm}’“ 4177
12V D | oV c 6 v 'B| .. av \A
The particles emitted from the hot surface of cathode
are: l/)J_l;Ln&/lac_é/ S84 | 178
Electrons /s 291 v/ D Protons }'554 C | Negative ions wd’ Bl Posmve ions T3 | A
The screen of cathode ray is made of a material called: u‘q’:&c 3,{!,055 Jr d; s | 179
Glass .22 D Phosphor .#6 v/ | C Iron U/’ B Zinc A
The grid potential of cathode ray oscilloscope is: o O :‘abndsf‘zﬁf Kgic’kﬂaﬁ)"‘f 180
Z2ero s.. D Neutral J/« c Negative &V B Positive <. A
Deflecting plates are the components of: ) M\ {94 u’b“’:),{/ L-----u%.ﬂé"‘s 181
Fluorescent tube .
Computer /}«f D ,xf:;a/ﬁ “'C CROWIE vV B Radio #4. A
The components of cathode ray oscilloscope are: | !Ufﬁéy)-’f&/:’!;{ 182
Six D Foursg'- " |C Three & v/ B TWO 5 A
George Boole discovered: < (Woletd L st | 183
oo O Arithmetic algebra Boolean algebra
Geometry § <'»2 D | MainalgebrarZict | ¢ A B A A
If X=A-B, then Xis 1 when: = S AJAXIX=ABS | 184
Ais1andBis0 “[. AisOandBis 1 AorBis0 Aand B are 1
A=1sB=0 - |p|  A=0.B=1 C A=0.B=0 B| A=1sB=1v |A
When input of OR gateis 1, then output X will be: g Xegss ol eqended s | 185
Al v - D A=0,B=0 Cc A=1,B=0 B A=0,B=1 A
When input of OR gate is 0, then output X will be: re Xeg 2S5 nleguidedTs | 186
A=1,B=1 'p| A=0,B=0v |cC A=1,B=0 |B| A=0,B=1 |A
The basic operation of NOT gate is called: -l w"%"d:lz‘»‘ﬁ&f <t | 187
Subtraction % . D Inversion *.9/ v/ | C Multiplication — ~ B Addition ¢/ A
The number of input terminals in NOT Gate is: NOT o dmnsd S ¥ st | 188
Three of D Many st e C Two » B One i v/ A
The output of a NAND gate is 0 when S n0eg A eS| 189
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Any of its inputs is 0 Any of its inputs is 0 Both of its inputs are 1 Both of its inputs are
A=1,B=1 D A=0.B=0 c A=1sB=1v  |B| O0A=0.B=0 |A
AND gate can be formed by using two te For bt iy S Uit e wf | 190
NAND gates 5 b D | NOR gates % C OR gates S NOT gates o et A
The output of a two-input NOR gate is 1 when: ire Bl eg ekl neges | 191
Both Aand B are 1 BothAand B are 0 Ais0andBis 1 A=0.s Ais1andBis 0
A=1.,B=0 D A=0.,B=0 v/ C B=1 B A=1.,B=0 A
When output of two NOR gates is 1, then: e legesTfes s | 192
A=1,B=1 'p| A=0,B=0v |cC A=0,B=1 |B| A=1,B=0 |[A
In computer terminology information means —e G v | 193
Processed data O Q 7
Large data 3ot J D Lidrsy v c Rawdata 556 |8 | Anydatatss?ds | A
In computer terminology, machinery relates to: s 4&“ Kd}-.." ui’&;‘b:}/‘,;{ 194
Software < £s2ts D | Hardware « 2554 v | C Data =& . "|'B| Procedure = §3./ | A
The number of components of computer based «QF 9 L.
information system is: T ur"(?'éi(‘"ﬁ/ltv"i:/‘).{ 195
Six D Five ég v C Three of - B TWO s A
Alexander Graham Bell invented telephone in: SO e wd Lgﬁﬁl/ | 196
1976 D] 1876 v/ lc| - 17 B 1676 A
The working principle of telephone is same to: e e W S | 197
Telegraph . & v/ | D Computer 2 “J¢'|  E-Mail £y B | Typewriter #L_¢ | A
Telephone system consists of ......... p_a_r_tjs?:" \ O :‘almdz":’ W & | 198
Eight #7 D - Sixz. C Four .t B Two »» v/ A
Alexander Graham Bell invented in 1876:. . - Lkt 1876LJ5(4/ 2P| 199
Machine o=~ D - - Cb'rhbutef // C | Telephone B4 B Cell F A
Which is the most suitable means of réliable
continuous communication between-an orbiting 2
satellite and earth? " Sl .:u%cﬁ-‘g}f;:“uyu'w*uwéufiuwur‘r 200
Any light wave . -|-. Microwaves
eS8 b | Sound waves Jysiii- | ¢ | Radiowaves yysyis | B SNy IRV 4 A
Who transferred first radio signal in air? VS 2hsbgsin | 201
Fleming &< D Coulomb 4" c Newton o/ B| MarconidsAv |A
Radio waves are: P dhs | 202
Mechanical waves Electromagnetic
T, 2 D Particles =13 c .,ng’ R4 B | Stationery =2+ | A
Fax machine is also called: :q,?:?:cf‘{fd-‘-"”u‘? 203
L Telefacsimile’s
Telephone ui&i D machine c Computer mf B Radio #4. A
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g AEE Vv
The basic operations performed by a computer are -‘Lﬁﬁdﬂfff’t&{ 204
Non-arithmetic Arithmetic
Both (a) and (c) Logical operations operations operations
AsCuss v D JH Ll C I £ B P £ A
The brain of any computer system is bk 27| 205
Control unit w+yJs#~ | p CPU ydy v/ C Memory §.s< B Monitor <+ A
Which of the following is not processing? ‘-"auf u@u;f Lo | 206
Manipulating /25 V &
Gathering /11 D | Calculating t./_('_L> | C v B | Amanging s’ | A
1 byte is equal to: Q@ "3::‘;8”/.;,,.:;;4 207
8 bits 8 U v/ D 6 bits 6 c 4bits4 o~ B 2bits2 * A
1 kilobyte is equal to: \ : e bn iK1 | 208
1024 bytes
1224 bytes 1224 . | p| 824bytes824 L |C | 524bytes5240%. -|B| 1024 L v | A
One megabyte is equal to: \ , & e buslre 6Ll | 209
1024 gigabytes 1024 megabytes 1024 kilobytes 1024 bytes
24 ¢71024 D UL 1024 Cl . Juf1024 v | B oL 1024 A
Which one of the following is not a hardware device? "-. :‘au‘—?; U I3 gl e | 210
Mouse . D Keyboard 54§ .| ¢ | Windows jsis v/ | B CPU y4u A
An example of primary memory is: I e Je LS8 A1 | 21
USB Jay D DC&S - ¢ CPU 748 B RAME V| A
What is meant by CD? PR Sl e B30 | 212
Compact disk Computer disk
Allofthese i, | D et v | ¢ | Chemical disk ¢35 | B O A
1024 bytes is equal to: By e b 11024 | 213
iIMB . |p|" 16 c 1 MB B | 1KBv | A
A CD can store maximum'......... data: :‘LGC St bl S| 214
680 megabytes. v/ | D|  680gigabytes | C 17 gigabytes B 17 megabytes | A
Which of the following is not a storage device? Ce HPE A Sl =i | 215
Cassettes J'/:'f D Keyboard sl v C | Flashdrive ¥ usu“:‘é B Hard disk 5354 | A
From which of the following we can get information . 5
almost about everything: ‘-’u,;c“‘./”—/ S Jlﬁlsfc//;u,—'c—uf eUSieir | 216
Internet = #1 v/ D Computer /,/ c Teacher st/ B Book (" A
What does the term e-mail stand for? te b E K| 217
Electronic mail Emergency mail
External mail X 44 | p | Extramail J124 | ¢ S B J 57 A
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Which of the following is not a web browser? S i s e Ui | 218
Mozilla Firefox i s
Safari §.&- D U C| YouTube—syv |B Chrome ¢,/ A
Broadband information can be downloaded in: pFe Sl i, | 219
Two days JUssss D 1 day Jtws L C 1sec i iV | B 1 min g2 e L A
Isotopes are atoms of same element with different e b P L AL L g LR AT | 220
Number of electrons Number of protons Atomic number Atomic mass
a0 2 D MRS, C AL B J_L.Jw v A
One of the isotopes of uranium . the number of ) .. 238
neutrons in this isotope is: e APl U w‘/ LIy | 221
330 D] 238 c 146 v/ \Bl T
Proton is heavier than electron: at'ndzw umw’ S| 222
1800 times 1800 .~ | p | 1870times 1870 ¢~ | ¢ | 1836 times 1836 v/ | B | . 1863 times 1863 .~ | A
The number of isotopes of hydrogen is: L e IS RIATE Pty | 223
Five &L D Four ¢ C Three 2 v/ | B TWO 1 A
Atomic mass number can be found through the TS 9 . "
relation: \ 0 ?‘at-lgl[pb’/.‘ tbie P U7 | 224
A+N D] Z-A Cl- L Z+N v B Z+A A
In , the number 92 is: o e AR U | 225
Neutrons and electrons Protons and neutro_n_e @
23 7 b D /mu,w,/ c .= Neutrons ~»/x B Protons 745, v/ | A
An isotope of Uranium is . the number of neutrons in- L . .
this isotope is: & Q 1w J/";/‘Jéu-’.'?«!y‘fu’l-?d_r"f_,gKﬁ/g 238U | 226
330 D] 238 \c 146 v B 92 A
When Uranium (92 protons) ejects a beta partlcle then AP L Ut Z"’G‘f/’gc*’() 4R) (e
its number of protons will be:. . :tf k| 227
89 D 7w c 91 B | 93 v
Those number is equal in hydrogen? eGP S APty | 228
L\, Protons and
Electrons and neutrons. |-.- | Protons and neutrons electrons
ez A p etk Py C Protons 74 B S| A
The number of neutrons in Tritium () is: 1w $oset3H ﬂ,‘t@/’ 229
Four . D Three o C TWo 55 v/ B One (i A
The number of neutrons in is: 14l Atiut 120 | 230
2 D | 6 v c 1 B 18 A
How many types of radiations emit during natural . )
radioactivity? te Qe b Pisia” Fuml GHJE | 23
Four D Three of v/ C TWO 1 B One i A
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Which among the following radiations has more
penetrating power? Semlinl LGSV e PS50 | 232
All have the same
penetrating ability An alpha particle A beta particle
¢ Leowed S Ee | D S c| Agammaray v | B Koty A
What happens to the atomic number of an element WA L e b g ot
which emits one alpha particle? | 233
Decreases by 1 Decreases by 2 Stays the same Increases by 1
§2bnf L D ¢2bnfnv | C bes #3580 | B Ce ot A
When uranium (92protons) ejects a beta particle, how
many protons will be in the remaining nucleus? 2z 4-lguuf:’»°’ il "‘q-t'/ C/ﬁnﬁ Abacter | 234
93 D | 91 c 90 v/ (B] . 89 ‘A
Charge on alpha particle is: j:;abn@/lgd?/l,w 235
None of the above - -
rs D Positive +%jy v/ | C Neutral J./#.-. ~2|.B |- Negative e A
Beta particle is actually: K o :‘Lmd’m‘f"/gcg 236
Positron s zJy D Proton ui;4 c Electron s }‘34 B Neutron s/ A
The half-life of a certain isotope is 1 day. What is the | ’f‘j""{ LL’/U’”'LU’JJU"’ Y i
quantity of the isotope after 2days? : : th nu{w’d/ <7 | 237
None of these | Ohe-.quarteréu?}zug
S D| One-eighth .=yl | € v B | Onehalf Szbx | A
Half life of Carbon-14 is: | (e SIS 142K | 238
50 years J.- D 45years ‘- | C 30 years J.- B| 5730years v/ | A
Half life of lead is: W e IIHIY | 239
10.00 hours &£~ D 10.2 hours 2~ C 10.4 hours £~ B| 106hours& v | A
Half life of hydrogenis: - . e ISPk | 240
2.85 years Jv D|  30years Ju C 5730 years Jv B| 123years v | A
Half life of radium-226is: e U 226-E 4 | 241
5730years - |'D| 1620years b v/ |C 2800 years Ji- B| 4000yearsJ. |A
Half life of cobaltis; ~ " e TSNS | 242
Oyears v/ | D 20 years Ju- C 50 years Ju- B 40 years J» A
Half life of 311 is: eSS | 243
16.9 days 16.9 o> D| 125days125¢, |C| 8.07days8.07 v |B| 10.5days105¢u: | A
The rays used for brain radio therapy are: it S Y1 S gl | 244
Xrays /;/u'»(l D| Gammarays .\ v | C Beta rays .tx B Alpha rays 2@ A
......... is used for the diagnose of brain tumor: e bl U1 L s §drautths | 245
Carbon 14 Potassium 40 Phosphorus 32 lodine 131
14-: 8 D 40 ¢y C 32-U.56 v B 131397 A
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When a heavy nucleus splits into two lighter nuclei,

the process would: e S u"i‘at'nﬁj uié,lfii—:%’»ufg £8M Lo | 246
Release chemical Release nuclear

Absorb chemical energy

D energy c Absorb nuclear energy B energy A
e Snt kg ASE oo G A Sne b Gn s

Release of energy by the sun is due to ‘-‘q.t'/ LA SL HS U | 247
Chemical reaction (&< Burning of gases - Nuclear fusion 4+ Nuclear fission 4%

4/31&561 D c;:}d/ii (s 413107}.’: v B é/:cﬁup A

@1\o%] SHORT QUESTIONS

IV}/J/-/ lr(u‘,c/‘ (’B’Lu"}fabd://lf}du&?},wul//’

If the length of a simple pendulum is doubled, what will be the

1 | change in its time period? of 1
2 | Define spring constant. Write its formula. g"dfu,mwu’muu/w/ Jey fr | 2
If time period of simple pendulum is 1.99s then find its
frequency. ~J/(}’* u‘f/an/.M 99z L8 i i )
4 | What s the difference between vibration and frequency? ™ . fe OV AP A

If a ball is suddenly thrown from the roof, then it will bounce. rs ’JJLJM’V‘JW JJU“"W{'JJM/JLJ[’

5 | this motion simple harmonic or not? V A, Yool e Fr A T | B

6 | What is meant by damped oscillation? - 1. fe sl e e o445
Define mechanical waves. And write the names of.its types. v el eSSy S S /zu)f”i{
What is the difference between transverse and Iongltudlnal . . L F
waves? . Q S G iU S5
Define wave equation. And write its formUIa ﬁ A Y s iy S P S e S

Jg}<+O.4m E@gmléLHz@J/’Jyén@/‘f}*{f’

The frequency of a wave moving’ ona sI|nky is 4 Hz and wave

10_| length is 0.4m. Find its speed. .- - IR | 10
What type of waves do not reqwre any materlal medium for .. )
11 | their propagation? - .. 0 e i d Lot Punsis ol | 11

..... FretF gL imeete & LFN LT

12 | watch him/her. Why_'? _ e Ul EUT | 12
13 | What are the necessary conditions to produce a sound? S kB f 0 L L8 S | 13
14 _| Why sound waves are called mechanical? et Uiy V22 Jdae | 14

What is the difference between the loudness and intensity of B gl s L Udnte S Dl L 6 A S ait

15 | sound? Derive the relationship between the two. < | 15
On what factors does the loudness of sound depend? Write L.

16 | the names. «ﬂrt?ebn4J'f JASK ARSI | 16
Draw a diagram of three capacitors which are combined B ) . .

17 | parallel. ﬂunéé_mc_gjféJugj,‘;/»{u:u:‘ﬁujuru/w 17

18 | The sound of women is more shrill than men. Why? e orud LA NTEUIS = Susn s | 18

19 | What s the difference between frequency and pitch?  GAAEAES | 19
What is meant by sound less whistle? What is the range of its o .

20 | frequency? W S SIS U1 e e G T | 20
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S e e 5T I S

21 | What is meant by intensity of sound? What is its unit? 21
What is the difference between loudness and intensity of o o,
22 | sound? S AU T A | 22
Write the mathematical relation between loudness and L Ly
23 | intensity of sound? g REN At I | 23
24 | Write the unit and formula of sound intensity level of sound? o i g6 AT A | 04
;/,ng’t;.db/n;}f/vzw‘t;,gavé &/qugﬁ/fl
If we clap or speak in front of building while standing at a o w vi v L
particular distance, we rehear our sound after sometime. Can A e T E ks S oS0
25 | you explain how does this happen? }’Lam 25
26 | Differentiate between echo and reflection of sound. -/ uk-_ﬁﬁuf.i‘fl/w"“ L1 | 26
27 | Why optical fiber is more useful for process of communication? fe U ALY L pinSaaquas | 27
28 | What is the speed of sound in brass and iron at 25°C. ?Lau"f{ Vi ke $ 3 125°C | 28
29 | Differentiate between musical sounds and noise. ' -?%ny/uf/?u'%wﬁb:‘ 29
30 | Write two effects of noise pollution on human life. u”‘v i Sadul | 30
31 | How can noise pollution be controlled? N VC-bClol/d H e =y J I8 | 3
32 | ) How can a bat locate tiny flying insects in a dark room? "C-UJ / uu - L/ el LA L"¢/’Jzﬁ€7vf 32
What is the audible frequency range for human ear? Does this "'wé/ B 2t e Hibar Ji 4 £ k30
33 | range vary with the age of people? Explain. curdnda | 33
Write down the audible frequency ranges for children and old | L{;.,;,Jy;{/ ) ) YA 4
34 | people. o ‘| 34
35 | Why ultrasound is useful in medical field? S wma LB U LA I WL | 35
How can we determine the location of objects lylng-d-ee.p llnlth.e Egdf:’” s d"‘ww‘ J’Mw'/‘;’”’"“w/'
36 | sea water or on the surface of water? . fetl | 36
37 | Differentiate between ultrasound and mfrasound ‘-"LJ/'Q/UQ"?WJUM'?W% 37
38 | Explain the reflection of light through plane surface. gLzl afEka nes u/ﬁ/ﬂﬁ 38
Differentiate between angle oflncndence and angle of ey L,
39 | reflection. an eSS ST S AT | 39
40 | Differentiate between incident ray and reflected ray. G S e el | 40
41 | Differentiate between regular.and irregular reflection. fe GV S it L habl | 4
42 | Why or why not concave mirrors are suitable for makeup? cuLSUr L Lnuuréﬁ-;'u?u/zé/ 42
43 | Explain the concave mirror and convex mirror by diagram. el S S| 43
44 | State the laws of refraction. S LSS | 44
45 | Write Snell's law. And write its formula. -uf‘J & ur/tsl{u’wuf’g W6 | 45
46 | What are the values of refractive index for water and ice? fetin lf«ffﬁ"r‘?}ﬂﬁdgnuf. 46
47 | What is meant by the term total intemal reflection? sl e L I | a1
48 | State the conditions for total internal reflection? I ST s | 4
49 | What s critical angle? e LSS | 49
50 | What is optical fiber? \pELAL | 50
51 | Differentiate between core and cladding of optical fiber. e AL S 6T | 51
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How light travel in an optical fiber using the law of total internal

L AGKET A S G nl S s il S #1U

52 | reflection? 3 | 52

53 | What is light pipe? How it works? ‘-’9“(KJ/ et/ e | 53

54 | Write the function of cyctoscope and gastroscope. et uﬁ KQ}Q)’/&(A'QP}/‘/ 54

55 | Define power of a lens and its units. Syl Lslasl J~ | 55

56 | What is convex or converging lens? Explain by diagram. O F e e xd v «fgf 56

57 | What is optical center? sl LT 57

58 | Define principle focus and focal length. SIS/ tf L Fr b 4| 58

59 | What is meant by power of a lens? Also write its formula. S S e KT | 59

60 | The power of a convex lens is 5D. Find its focal length. ~J/()L’”I»AQJ{”JJ'-¢5DALJ/«I(/J 60

61 | What are the difference between real and virtual images? S O s LEIS 1 | 61
How does a converging lens form a virtual image of a real
object? How does diverging lens can form a real image of a o st LH’C) ‘I(C.'J””J(}J’/J £

62 | real objects? Lt VBS gl | 82

63 | Differentiate between real and virtual image. & = -J,/ e nl 1S 5k | 63

64 | Define the terms resolving power and magnifying power. o Sy ubf’ Gu“:” n'utu@w 64
What is meant by resolving power of an optical instrument? .

65 | Write its advantage. "au/u:b'd/ sl o e ast S § ST | 65

66 | Draw ray diagram of simple microscope. - L«r'/c':a/d/ —FFl | 66

67 | Write two uses of compound microscope. e o e L A EUsS | 67
Why do we use refracting telescope with large objectlve lens of L/‘JW'U’(’;& AL ”ﬁd{”““(

68 | large focal length? TR fUr | 68

69 | Write two differences between telescope and mlcroscope I 7:‘3/? Lu'v:ﬁ & | 69

70 | Draw the ray diagram of refracting teIescope et B S FE R | 70

71 | What is meant by near point and far pomt of human eye? Sl e 2 B 5| T

72 | How does the thickness of a lens affect its focal length? ¢ St U IS e SH | T2

73 | What is meant by near sightedness? How is it removed? ?%t'l?l:.r/”d../ e, Ve $F o f | T3
What is the difference between near S|ghtedness and far o . .

74 | sightedness? e G A a8 F ) | T4
How can you show:by S|mpIe experlment that there are two ) R )

75 | types of electric charges? ?ugrumd/ ‘i.zng T uzilzaf e f ol LT | 75
Describe the method of charging bodies by electrostatic .

76 | induction. e K3 UKL TS Az B 28 | 76
With the help of électroscope how you can find presence of . 5

77 | charge on a body. U 4 §LongSonr S G/.lf{.()' =l 7; 5}‘?'-,«' 77
How can we detect a conductor and insulator with the help of )

78 | electroscope? Cctblf b A S e a2 | 78
How the nature of charge can be detected with the help of ) )

79 | electroscope? Setblf sfet it | 19

80 | State Coulomb’s law. g UkusEEdy | 80

81 | What is the effect of distance on Coulomb’s force? Describe. Sk Ce Kb S| 81
In System International, what is the value of k in Coulomb’s . ) L

82 | law? g Akt LA FF A5 | 82
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forfer §utte s HfiG 1 Y

83 | Is electric intensity vector quantity? What will be its direction? 83
84 | Define electric field. Write its unit. -uf’U Sy S S| g4
85 | Define electric field lines. Who introduced them? ‘-’gu/ S g S/ AT | g5
86 | Write down two characteristics of electric field lines. -uf‘a -"«Lw‘} nd AT | g
How would you define potential difference between two points? SHEvEL Sk 4‘?’7‘/&/’ g "PQ o ”L‘fv'%”
87 | Define its unit. ~Q/b12/76/ 87
88 | Define electric potential. Write its unit. oS S ST | g8
ORNOY SHORT QUESTIONS
89 | Define volt. g S S | g
90 | Write the formula of electric potential energy. -J/ Bt B
91 | Who and when the first battery was discovered? _ ¢ }wa_«/ M gt | o1
. : TR .
" x\flréztplgcri?:r?:et.by capacitance of a capacitor? Define the unit Y. J.ALU'S ~~/<’c.;u/ o S J/J/:/ 0
Derive the formula for the equivalent capacitance for a series »!umwu'“ "dﬁd’m}/’ﬁ{’ sl dte 3oz
93 | combination of a number of capacitors. |93
94 | What is the difference between a capacitor and a dielectric? ST ) e JAS U J/a'd'w'/«‘{ 94
et el e oo s s o | g 5 ekt
95 | capacitor? ‘etz | 95
96 | Define capacitance. Write its unit. -uf’g S eguiig S/ Ut u”/ 96
97 | What is meant by the series combination of capaCIt_or_? - ?cb-)'/&fc—uifu.f )%J 1/ 97
98 | Connect three capacitors in series and draw dlagram ~uf/b.,"f e // NIV ES 1/ o | 98
Write down two characteristics of the serles comb|nat|on of the ) .
99 | capacitors. U e mlor? s B el | 99
100 | What is meant by dielectric? Sl e 935 1 100
101 | Write down two uses of capacitofs;.- _ ' ; Ny -u:‘”i Uty L ﬁ{ 101
102 | What is filter circuit? = Q s Lo A 102
103 | What is difference betwéen_ varié_bie-and fixed type capacitor? Y fj '50/'0&'/)51'%{ s 103
104 | Define fixed capacitors. - S8 =8 104
105 | What is meant by Mica. capacitor? Sl e 22000 | 105
When fuel is filled-in car or aircrafts, then how can we )
106 | avoid from spark? ?Labtglg.écwé;?‘artglﬁuﬁwutjt{zdmg%% 106
107 | Write some charécteristics of electrostatics in our daily life. -uf’J akﬂf"' Ad. e 8 uc‘ia/JUJM 107
108 | Write the reasons of fire or explosion in static electricity. Skt S STt | 108
What is the difference between electronic current and ..
109 | conventional current? S G sl S S e S04 | 109
110 | What i the difference between a cell and a battery? Ce G U LS AL | 110
111 | What s the SI unit of electric current? Define it. N S S A RN
112 | Define electric current. Write its mathematical formula. o U Q8IS F S S| 112
113 | What is meant by electronic current? Sl ol S 6 113
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114

What is the difference between flow of current and water?

e G L e S

114

115

What is the difference between galvanometer and ammeter?

eGP

115

116 | What is the SI unit of potential difference? Define it. S S UeSIE A Uy | 116
What is meant by the source of electromotive force? Give two )

117 | examples. Lt e g Ludde 2 | 117
What is the difference between electromotive force and L ) .

118 | potential difference? SNSRI 3 D | 118

119 | State Ohm's law. Write its mathematical formula. i Qb S IEEA | 119

120 | Define the Sl unit of resistance. S FEeySIZ o | 120
The resistance of conductor increases on increasing the i . . ) i .

121 | temperature. Why? e Frud TS A L 2L A | 121

122 | What is meant by Ohmic and Non Ohmic conductors? S sl P e TP LA e s | 122

123 | What is meant by thermistor? Write its use. -u/ e 1K 15 c// 123

124 | What is meant by specific resistance? : ' . a4 Ui | 124

125 | How jewelers find that the diamond is real or fake? St -’f/ {_r L e 'ic///f 125

126 | Write the factors affecting the resistance of wire. L U L an b i | 126
Diamond does not conduct electricity but conduct heat. _ “}L”'L/ Mw"’/{”']‘(w’ RO

127 | Explain. A /| 121

128 | What is the difference between conductors and insulators? - - |- ?LJ/JuVMiJ}M sl | 128

129 | What is meant by insulators? Give examples. -J)JJ et e i 1| 129
Itin impracticable to connect an electric bulb and an'electric FS p 8 eini e L AL

130 | heaterinseries. Why? o . fud-¢ | 130

131 | How many ways of resistors combinations? Write their hames. AL e pELL 20| 13

132 | What is meant by parallel comblnat|ons of re3|stors’7 ‘-’LLJ'/Lfcaffd.‘/ J lr L] 132

133 | State Joule’s law. Write its mathematical formula. 2l U QL6 Sk w6 €% | 133

134 | How many watt-hours are there in-1000 joules? et A E Ut J21000 | 134
What is the difference between kllowatt hour and electric

135 | power? . . e G S Tan | 135

136 | Convert 1 kilowatt hour into joule; . gL Iz s Ten# G| 136

137 | Define electric power. Write down its equation. ~EfenSuingE /}&J}Q' 137

V2. . 2

138 | Prove that: P = V? 9 P = % ek | 138

139 | What is the difference between DC and AC? Ce G U S5 | 139
When live wire damages, then how earth wire saves from R R

140 | electric shock? e dode SN dniF fics | 140

141 | What is the difference between earth wire and live wire? e OSUE AsfUn Fs £ | 141

142 | Describe briefly the hazards of household electricity. el F B L5 L | 142

143 | Write two disadvantages of electricity. e L 5 | 143

144 | What is meant by moisture? Sl e Jrlini | 144

RIS Ry NPT Y SR PRl PR
145 | What is circuit breaker? Why it is used in household circuits? fe | 145
146 | What is the difference between fuse and circuit breaker? fe G By Tl | 146
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147 | Write down two precautions in the use of fuse. o s F oot e L | 147

148 | Describe right hand rule. s L LUl jwjf’, 148

149 | What is meant by solenoid? el Ve S0 | 149

150 | What is meant by magnetic resonance imaging? fesly Ve UE Wv@"? 150
Who discovered the magnetic field produced around a straight L L d S LS e S 2 ]
151 | current carrying conductor? o | 151
152 | Write two methods of increasing magnetic force. u"’U E Ll i brg s J;’? 152
Write the principle to find the direction of force acting on a {L/(WJJJ”’//AW V/Q,JZLJMHW
153 | current carrying conductor placed in a magnetic field. ok | 153
154 | What is meant by intensity of magnetic field? Seplfe =i J ).1;_;/’ 154
Which device is used for converting electrical energy into ‘f"éb/‘j” J‘j/'ﬂ[‘j/"f/_a lyu‘u,»uﬁ/u;w
155 | mechanical energy? On what principle it works? et/ 64J1 | 155
156 | What is DC motor? Write the principle of its working. -u L ubdﬂ'KL/ KLU I 5SS | 156
157 | What is the role of split rings in DC motor? . VC-rKW//uVu* sS85 | 157
158 | What is armature? ‘?uziéfif /7| 158
159 | What is meant by electromagnetic induction? "a:'/tfcuy }:u_ﬁf’ 1] 159
Voltages are produced, when conductor wire moves in a K

160 | magnetic field. Why? ' *‘u/ LB e L Sl 00 | 160

161 | State the law of electromagnetic induction of Faraday. _ L us b/u’f MJ*? K32 | 161
On what factors the induced emf produced as a result of a wie Jw'f'd'yj”'d"“””wié‘} J"U"CJ/

162 | change in the magnetic field? . o AT AT TN S5 | 162

163 | State Lenz's law of induced emf. S e IS YIS g | 163
On what factors the quantity of mduced emf depends’P erte .

164 | the names of two factors. - . o te S S e Suifigiog | 164

165 | What is the difference between a'generatcir and a motor? S WO U Sy a7 | 165

166 | What is AC generator? L Lr S| 166
Describe the direction of an induced e. m. f. in a circuit? How LEMPS “j"{u"b‘ ‘"/J&/’fz”uﬁ:‘f/

167 | does this phenomenon relate to conservation of energy? e G LU Z i Z 27 | 167
What is a transformer?-Explain the working of a transformer in . )

168 | connection with muttial induction. et/ E LU e e s | 168
According to sign conventions when object distance are taken L AL i S Qo Ltz

169 | positive and negative in spherical mirror. fUrdl | 169

170 | Describe the principle focus of a convex lens by ray diagram. El e S B I (LAY | 170
What is the difference between step up and step down o ) , ,

171 | transformer? ‘-’LaU/Efuf//W'/”u?':"-,«:“u'?«'-,«:“ 171

172 | What is meant by relay? el e L G0 | 172

173 | What is meant by thermionic emission? St e FTIE P | T3
Write the names of two factors which increase thermionic . .

174 | emission. -uf’J(bL/v»J_uLw./W/“!Jf/ 174
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What is right hand rule to determine the magnetic poles of a

AL LSl e 1y L LS psr S ]

175 | current carrying coil? &K | 175
176 | How electrons are deflected through electric field? e 3t U N AL 5L S| 176
177 | Name some uses of oscilloscope. ke L ke | 77
178 | How electron gun works in cathode ray oscilloscope? ‘793/ (KC/’JK S it _;P A 54| 178
179 | What is meant by fluorescent screen? Sl ol r_q/‘ &'14/)3 179
180 | Write the uses of cathode ray oscilloscope. ol s L 7; A5 | 180
181 | What is the function of grid in electron gun? ?Lauigtg%fuﬁfu,}?! 181
182 | What do you understand by digital and analogue quantities? e E b Ut A LUl FF S T | 182
Write down some benefits of using digital electronics over w» 4PN
183 | analogue electronics. ‘-‘uj»""’lfﬁf vd'uwwwhd/ S S | 183
184 | Write two uses of logic gates. L E el e | s
185 | Differentiate between digital and analogue quantities. : ) p -uj/ qQJ)&ﬁ Ui el PS5 | 185
186 | Differentiate between analogue and digital electronics. ?4«5/‘9@1&6 SASE T | 186
187 | Write the uses of digital electronics. e £S5 | 87
188 | What is meant by DAC and ADC? ‘e s /= ADC ,sDAC | 188
189 | What is meant by binary variable? Ces e JIS08F L | 189
190 | What is meant by logic state? fe sl e o LU | 190
191 | What is meant by logic gate? ?La;!/t[c_uf_,,cu 191
192 | Which are three universal logic gates? e of U UF e e | 192
193 | Define truthtable. el el JS K 5| 193
194 | What is meant by AND operation? Write its symbol. - S if et e P T | 194
195 | Write truth table of AND operation. .~ . G 2F JE FareF T | 195
196 | Write the symbol of AND gate. _ g el | 196
197 | Draw circuit diagram for AND géfe;.. Qv -ufla(!/yﬁ://ufifi'c' 197
198 | What is meant by OR operation? Write its symbol. S eSS p e T | 198
199 | Write truth table of OR dperation: - S K FPT | 199
200 | Write the symbolof OR gate. S 1F e§ LT 200
201 | Draw circuit diagram for OR gate. L e e LT | 201
202 | Write truth table of ZNO'T'operation. ST FIEF ST | 202
Which gate offers logic complementation? Draw its logical
203 | symbol. etk RIS U et IS U i SlanS U | 203
204 | NAND gate is the reciprocal of AND gate. Discuss. S eobose ke e i | 204
205 | Write truth table of NAND operation. S LF I | 205
206 | What is the Boolean expression for NOR operation? Ce il ﬂiéécﬁ‘{,fzb 206
207 | Write the symbol of NOR gate. S eF ee§ el | 207
208 | Write the use of logic gates. I e JL’K/’KJ? LU | 208
209 | What is the difference between data and information? ?‘a&/k‘uf"ff JEsil3 | 209
210 | Define Information and Communication Technology (ICT)? S PSSk ‘ﬁ'{f;fm‘ff A 210
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What is the difference between hardware and software? Name

PN IR )] /,,)LLJQ?LJ U/u: 9 Il Fasl
r /- Sy — /U 2 SA Iy

2

211 | different software. 211
Write the names of the components of computer based L.
212 | information system. e L L e | 212
213 | What is meant by flow of information? e e e LG | 213
On how many components a communication system consists . RN
214 | of? Write its names. ~ufgu‘{(b£u'?+t"nd"//,ur"ﬂ'éi/(” /J-ﬂ 214
215 | Explain briefly the transmission of radio waves through space. oo B v igiss | 15
What is a photo phone? How is it different from a common ) . L
216 | phone? e L ik S Wi | 216
Why micro waves are more efficient for satellite . V'
217 | communication? st dnud Fmlid L‘ffé/ Wi B | 017
218 | How light signals are sent through optical fiber? ?@54&:;5&,’{1;&;7[%%;1) 218
219 | Write two uses of computer in our daily life. e vt S L 2 | 219
220 | Write the names of four input devices in computer. Al el a2 | 220
221 | How light signal is sent through optical fibers? . € sgref e 5L AT A | 1
Differentiate between the primary memory and the secondary & . )
222 | memory. e S LS SR SR S 1y | 222
223 | What is hard disk? @ e S5 | 223
224 | Write two uses of hard disk on floppy disk. i & L5458 | 224
225 | What is the difference between RAM and ROM. S JAS it | 225
226 | What is the difference between floppy disk and hard.disk? S G UE LS50 | 226
227 | What is the difference between hard disk and compact disk? Loedir et i | 207
What do you understand by the term word processing and data .
228 | managing? - O 9 e p e bl S L b | 208
229 | What is meant by data managing and word processing? e e QA s S EE S | 209
230 | Write the names of four web browsers. -~ - -u*fj (LIl | 230
231 | What is global web? Vo e | 231
232 | What are the two important services used in internet? S L s il e e 1| 232
233 | What is the difference between webbrowsing and E mail? e GV Sl L s | 233
234 | Write down the services of internet. Ul embs s # | 234
235 | Write down two uses of E mail s LG | 235
236 | What are browsers? " s | 236
What is the difference between atomic number and atomic P o . .
237 | mass number? Give a symbolical representation of a nuclide. LS AP e E e G U A U L | 237
238 | What is meant by isotopes? el e 9T | 238
A nuclide is represented by symbol . Find the number of AT sy e e coted S
239 | protons and neutrons in it. 4/ o= | 239
240 | Differentiate between atomic number and neutron number. LGP A st AL | 240
s radioactivity a spontaneous process? Elaborate your answer . L

241 | with a simple experiment. JLeoldoine e f ot dite ST SR G | o4
What is the difference between natural and artificial o v .

242 | radioactivity? e GG SR AT A | 242
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243 | What is meant by natural radioactivity?

el Ve GAJE | 243

244 | What is meant by radioactive elements? Give examples.

Ao S ot Ve i | oaa

245 | of background radiations.

What is meant by background radiations? Enlist some sources

e L E SIS Lo p e SIS hi K
y/2f | 245

246 | What is meant by cosmic radiations?

Sl e IS4 | 246

247 | Write down the causes of background radiations.

i A $RISL S | 247

248 | What is meant by nuclear transmutation?

?Lg;l/gcﬁfd';[%fz 248

249 | What is meant by penetrating ability?

?‘LJ’/ ([:.AE; HQ/J’J.’.‘ 249

250 | Write down two characteristics of beta radiations.

e Pt | 250

251 | Write two characteristics of gamma rays.

i s S| 051

252 | Write down two characteristics of alpha radiations.

%QQP»J&UL&M 259

253 | What is meant by half life of a radio active element?

S e I St iy, | 253

254 | research.

Describe two uses of radioisotopes in medicine, industry or

L,Clsu:’;LIQW!JQZMW:U’Q{/J:JK’Q{J
-U:L“f 254

255 | an electron. What is the daughter nucleus?

Tritium is radioactive isotope of hydrogen. It decays by emitting

C/bu;/‘a!J/LC}’u},««gu;’/rciwzgu}u,ﬂf“«/
» vu’l.«”L Kﬂnu,gn/‘ 255

256 | What is meant by artificial radio activity?

?+,i/gc@zfg¢/f&/' 256

257 | Write two uses of radio isotopes.

o e, £ AP T4 | 257

258 | What is meant by radio active tracers?

e U 225095 | 258

259 | What is the use of radio active isotopes in medical freatment?

e SR T e et St | 259

260 | Define radio active isotope.

ey AT | 260

261 | What is meant by tracers?

Sl Ve i A7 | 261

= 3P LG e | 262

262 | Differentiate between stable and unstable.nuclei.
263 | Define nuclear fission reaction. « - «©O

oSS F e | 263

264 | What is meant by Fission chain reactlon’?

e e PG | 264

265 | Write four hazards of radlatlons

et Bree LISk | 265

266 | Write four safety measures of .radlatléns.

~E b piilr e P64 | 266

LONG QUESTIONS

What is meant by refraction of wave? Explain the refraction of
water waves diagrammatically by using ripple tank.

yu,Jﬂ}/Jjg,J&gé.nL/JWu,@J/?§_;I/g..~_u“’f}/ufjg,

_"éQALy
Define simple harmonic motion. Prove that motion of mass FrENenZ AL S et ) P S v A
attached to a spring on a horizontal surface is simple harmonic . .
motion. e Bk h

The time period of a simple pendulum is 2s. what will be its
length on the earth? What will be its length on the moon if
gn=ge/6? Where ge=10ms-2.

Jie J "J JH}MJ""J/UUU/J;JM-LZS»/(B’KH}MML«

=10ms2.2 g,, = ge

A pendulum of length 0.99m is taken to the moon by an
astronaut. The period of the pendulum is 4.9s. What is the value
of g on the surface of the moon?

J»g~§_4.95;";7gﬁ,ggicb_m?z_/v;g{.o.ggmwJﬁ/ﬁwwwg
AN AV
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A simple pendulum completes one vibration in two seconds.
Calculate its length when .g = 10ms ™1

g= .,éu:/(r}”ét/JJLLLL"/(JIQZ‘:ZSU?'/{!)Q&,!/:&ul/u{l

-10ms™1

Draw a transverse wave having amplitude of 2cm and a e S L g7 e B g 2 F 2 K P I s 2
wavelength of 4cm. Label a crest and trough on the wave. ) ) ) )

‘J”/(Jfgi/d/"/}l

Derive a relationship between velocity, frequency and
wavelength of a wave. Write a formula relating velocity of a wave
to its time period and wavelength.

U//GJL"L}Q»;Jg;-q/ﬁnguud/djuyné,;ﬂfgwnu@f}u};@;
U5 s p e

What are damped oscillations? How damping progressively
reduces the amplitude of oscillation?

ﬁ/{i/é/,v/:f&i/!é:u"jdﬂ ﬂ;/u’/wu:"a;vtfc.ﬂdn,«/}
"ad/

If 100 waves pass through a point of a medium in 20 seconds,
what is the frequency and the time period of the wave? Ifits
wavelength is 6¢cm, calculate the wave speed.

Vh sl Epoiund s J'ZOS‘K—W!:’JL(/ 434410007
VJ]&/V&i;"%CTnA}uJJI/WKr

What is the wavelength of the radio waves transmitted by an FM
station at 90MHz? Where 1M=108, and speed of radio wave is
3x108ms-1.

aeda, Mnu{mu@.wf ,meJQOMqu*/ 195 FM L1

IR

e 3x108ms . Ly S sk IM=108

Wi N

What is the difference between loudness of sound and intensity
of sound? Write the mathematical relation between them.

</ jUr/Wul’deu"uju"au/Ju"u/ sl A s

A normal conversation involves sound intensities of about 3.0 X
10~°Wm™2. What is the decibel level for this intensity? What is
the intensity of the sound for 100dB?

Juégu«”m Ju/ 405130 X 1075 Wm2 28
el 5L L 100dBL A6 g Usd

At Anarkali bazar Lahore, intensity level of sound is 80dB, what
will be the intensity of sound there?

VJ 1 980d B U s Lt S ]

At a particular temperature, the speed of sound in air is 330ms-".
If the wavelength of anote is 50m calculate the frequency of the

ear?

.'Jg;kfb«?nSCméﬁfg;ﬁng?:?:Oms 1 5l/u*'}"///gfl7ua

e Clt oS iiar 6 L I g S o o
; k-

A doctor counts 72heartbeats in 1min. calculate the frequency
and period of the heartbeats.

o S PSS s S T2 Dt e L1 5L
-

A student clapped his hands neat a cliff:and heard the echo after
5s. what is the distance of the cliff from the students if the speed
of the sound is taken as 346ms-'? -

F N1 b AT S LB bt e f LSl ¥ Mo
—x346ms ! b Sl SIS Aol Sk

A sound wave has a frequency. of 2kHz and wavelength 35cm.
How long will it take to travel 1:5km? ==+

Lob§1 Bleme i #35emusi2K Hz ez A 58 55k p San il
?gn/@):ﬁ)@/é LiJE

Find the frequency of sound, when speed of sound is 340ms-
'and wavelengthis 0.5m.. "

~LaO.Srnp}éfgmu340ms‘11’,5J,‘citf,{7?@/(;1”u'”/,’://' Sus

A convex lens of foeal length 6 cm s to be used to form a virtual
image three times the size of the object. Where should the lens
be placed?

L“L;,@“‘lJ/g/,Jywu’J;wa/<96chQf}J’/'Jwgf.,{'
o i

An object 10.0cm in front of a convex mirror forms an image
5.0cm behind mirror. What is the focal length of the mirror?

//_LLGQSCm;égL//‘énfﬁ.{uLngg10cm4‘¢v£//u‘fﬂ/
e

An image of statue appears to be 11.5¢cm behind convex mirror
with focal length 13.5cm. find the distance from the statue to the
mirror.

;é:LJ/C:IJéé_n£/¢L«£J!<§.13SCma?ﬁfJ{iJ//‘/f/.{!
<Q/()“’,UGLJ/{5<+&JJ%41 1.5cm

An object and its image in a concave mirror are of the same
height, yet inverted, when the object is 20cm from the mirror.
What is focal length of the mirror?

5!/Q'./.l/,£(jkf}|Jﬁélj;ld/é!ﬁfj’é.ng2:420cm :_//JCQ
ARy
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What is critical angle? Derive a relationship between the critical
angel and the refractive index of a substance.

ﬁiol}PJyuy/}Lgfngl}ﬁg/./mﬁiﬁ./?bgﬂ/gaﬁiﬁu/

Jr
What is meant by total internal reflection? Explain with the help of J‘}?"»J a5 g S el s S fises /gc_ﬂ/‘j i
diagram. Write the conditions for total internal reflection. ) .
UYL
The power of a convex lens is 5D. at what distance the object SRR I IR CRRR YRV ) PR AP DASHAL
should be placed from the lens so that its real and 2 times larger ’ ’ B
image is formed. e E I8y
A convex lens of focal length 6cmis to be used to form avirtual | 22 Fo )y SoratF o ez e bom gﬁf;&f, ./.J‘/f Fly
image three times the size of the object. Where must the lens be ) ‘
State Coulomb’s law. Write its mathematical form. Also clear the VoK & IS Sf % J‘JJ%L?JJ' v /ubu JEK. _J/
meaning of k. and write its value in air. % 5 JU/J P b
ERILC IS

The charge of how many negatively charged particles would be
equal to 100uC. Assume charge on one negative particle
is 1.6 X 107197

Lu,w/la//}br’cu(ﬁvg}’/!/ﬁ 100ﬂC C/lagul/;,w/la//}br"ci
~eCk 1.6 X 107174

The force of repulsion between two identical positive charges is
0.8N, when the charges are 0.1m apart, find the value of each
charge.

é//&bﬁo 1m7/bﬁ..¢>440- SNJJIJJJQV/Jéi/br/iﬁvCl»
SIS e iund

Write down explain the relation between electric field lines and
electric intensity.

n »vu‘/JU}JUL’IUV/}LU‘/‘IIJ/UUH/ WS

A point charge of +2C is transferred from a point at potential
100V to a point at potential 50V. what would be the energy
supplied by the charge?

_ _,/uu,‘}/ysovf_wuu,uw100sz,/uwua: +2C A

NETIRNAT RN b $ee-e bl F

The electric potentlal ata pointin an electrlc f|eId is 1O4V Ifa.

would be the amount of work done on it?

JL 100uC J-e 10*V e S5y esiyfie oSS
Wyt S Ul el el U5 T

Find the equivalence capacitance of capamtors connected |n o
series.

<q/r}’”uyu<{d;ud/1%»>£;}2;%/zﬂ

Explain the working of parallel plate capamtor

_J/b»wd/&/’£¢/(l{£ﬁ‘f/ Ji/

Define specific resistance and discuss the factors affectlng
resistance.

4)1/0[{,JifLUL!Z/!M/!/?J”///uiu.:/__y/d/u”/// e

What are electrolytic capamtors? What do you know about them?

U T AL S < o A

A current of 3mA is flowing through a wire for 1minute, what is
the charge flowing through the wire? -

°+Q//f@/%€fuﬁ}l5<9tg&/3mAui‘_u»1 -y ey

Explain the force on a current carrying conductor placed in a
magnetic field. How this can be increased?

T oo § Ul A Gl e S
te (Flilbrly

Explain Ohm'’s law. What are its limitations?

?wtf;mJJUbumeﬂum&@w(w-q/ug/u%iﬂ¢

Two capacitors of capacitances 6uF and 12 pF are connected in
series with 12V battery. Find the equivalent capacitance of the
combination. Find the potential difference across each capacitor.

SENAN B by, o f e AQUF MO oz ¥ 57§25 o
b PSS e F S GG e

The resistance of a conductor wire is 10M(Q . if a potential
difference of 100volts is applied across its ends, then find the
value of current passing through it in mA.

T S P00V S AL 1 e 10MQ 58 P20
<Q/(}h’ufi/f,£!Jd/U'5L/fcufu!

State Joule’s law and also derive its mathematical form.

it B g S I56U 2

By applying a potential difference of 10V across a conductor, a
current of 1.5A passes through it. How much energy would be
obtained from the current in 2minutes?

Tty 2t AN B A S P e A0V A By P
?J w S bgj./.’u;( Sede oS
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What is kilo watt hour? Define it. And find the relation between
kilo watt hour and joule.

-q/j&!&wtﬂdﬁmm’u;%'/;-q/b@}tfw?9:n/g¢/;7¢¢;ﬁ

What is meant by electromagnetic induction? State an
experiment of Faraday.

S e F LI St o e P 1 i 28

Draw a labelled diagram to illustrate the structure and working of
A.C. generator.

S LS eSS S e J(ufysdrﬁj

Describe the construction of a transformer. For an ideal

v, I
transformer, prove that: -2 = =
Vs I

2=l Seed Lot Tl g e S i
14

Vs

A transformer is needed to convert a mains 240V supply into a
12V supply. If there are 2000 turns on the primary coil, then find
the number of turns on the secondary cail.

J'ufd/l/?Jw//u,Lgla;/J/;u:u‘;u12V/240V//w/"u5t5_,}u§t

B S Us  FIS R § 155200005 S s e U

A step-up transformer has a turn ratio of 1:100. An alternating
supply of 20V is connected across the primary coil. What is the
secondary voltage?

St Z20VI IS A e 10060 £ Ut b1
_J/r)“"ﬁud/wf’igtptuia’L«LJ//

What are the three universal logic gates? Give their symbols and
truth tables.

-Jbﬁi}mmtw-tfuu?wcufufu”f.fudﬂzwf

Write down some benefits of using digital electronics over
analogue electronics.

ﬂw/&,/uwf AL A S

What is meant by AND operation? Describe its different states.
Write Boolean expression and truth table of AND operation.

ul,‘ufjlp_wtfm?%;u/g;ﬁ/j,@
SN

mmu./wu"'y&f i’..

How safety alarm in houses works? Explain it.

el St S AU e S

Which are the three universal logic gates? Write their symbols
and truth tables.

e b S e SIS e Y . AN ST

What do you understand by Information and Communlcatlon
Technology (ICT)? Explain.

St 2 e (ICTIE G 5 ST

Explain the Transmission of Light Signal Through Optlcar Flbers o)

«gg')l.ud/féuzfl/bd//bcéu’“ué/}L/bﬂ‘f

What is internet? Internet is useful source of knowledge and
information. Discuss.

ol G I P P p i

What is meant by electronic mail? Write |ts uses and advantages

,uf‘gﬂim;,UVMLJI?LL;:/LJLJ»”J;}Q;

Define natural radioactivity. Also write any three charactensncs of
beta rays. LT

ke FSE NS S

What is meant by background rad1at|ons'?

eq/ul",,d/usm{éw?9;u/g¢ﬁudzjiitfv§

Explain transmission of radio waves through space.

e = e Jio$idssh

What do you understand by half-life of a radioactive element?

-u:/c)u}?g}t/gc.ﬁ/ﬂ_}l[t{wl}ggiz

What is meant by half life? Explain it with the help of Radium
226. And show the activity ‘of Radium of graph.

SEAS g S eolon§ e JE$2266 4 S sl Y e 1
-u:/(/;lk:cu g

The half-life of 1$N is 7.3s. a sample of this nuclide of nitrogen is
observed for 29.2s, calculate the fraction of the original
radioactive isotope remaining after this time.

Yoalied L 4292658y N s Fooe JET.35 Ui S 16N
Kool L 4£29.2 265 S5 1N

Cobalt-60 is a radioactive element with half-life of 5.25years.
what fraction of the original sample will be left after 26years?

S8 1580 o L 26— 52557 3 3 SB0 Hiy s

€ Lol
Ashes from a campfire deep in a cave show carbon-14 activity of | (f, . o 87 e d o 2 s 850 2551k LSS, ALl
only one-eighth the activity of fresh wood. How long ago was that ‘ ’ ; oL
campfire made? S
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